Mathematics 325	 •	2	Exam III
			Summer 2008

1.(40 pts.) (a) Show that the full Fourier series of $f(x) = x^3 - x$ on [-1,1] is $\sum_{k=1}^{\infty} \frac{12(-1)^k \sin(n\pi x)}{(\pi \pi)^3}$. 5 (b) On the same coordinate axes, sketch the graph of f and the sum of the first three nonzero terms of the full Fourier series of f on [-1,1]. \leq (c) Discuss the L^2 – convergence, or lack thereof, for the full Fourier series of f on [-1,1]. \leq (d) Discuss the pointwise convergence, or lack thereof, for the full Fourier series of f on [-1,1]. γ (e) Discuss the uniform convergence, or lack thereof, for the full Fourier series of f on [-1,1]. \leq (f) Use the results above to help compute the sum of the series $\sum_{k=1}^{\infty} \frac{(-1)^k}{(2k+1)^3}$. 5 (g) Use the results above to help compute the sum of the series $\sum_{n=0}^{\infty} \frac{1}{n^6}$. (a) $f(x) \sim a_0 + \sum_{n=1}^{\infty} [a_n \cos(n\pi x) + b_n \sin(n\pi x)]$ where $a_0 = \frac{1}{2} \int f(x) dx = 0$, d p l d h $a_n = \int \frac{f(x) \cos(n\pi x)}{f(x) \cos(n\pi x)} dx = 0$, $b_n = \int \frac{f(x) \sin(n\pi x)}{f(x) \sin(n\pi x)} dx = 2 \int \frac{(x-x) \sin(n\pi x)}{dx} dx = \frac{3}{2} \int \frac{1}{2} \int \frac{1}$ zyłs. to here $\frac{1}{2}\left(\frac{1}{2}\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\right)\right) + \frac{2}{2}\left(\frac{3}{2}\left(\frac{1}{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)\left(\frac{1}{2}\left(\frac{1}{2}\right)^{2}\right)$ $S_{T}(x, t_{r}) = \frac{-12}{(n\pi)^{2}} \left(\frac{-\cos(n\pi x)}{n\pi} \right) \left[+ \frac{12}{(n\pi)^{3}} \left(\cos(n\pi x) dx \right) \right] = \frac{12 \cos(n\pi)}{(n\pi)^{3}} = \frac{12 (x^{-1})^{2}}{(n\pi)^{3}}, 7 \text{ pts. to here}$ $f(x) \sim \sum_{\substack{n=1 \\ n = 1}}^{\infty} \frac{12(-1)^{n} i(n\pi x)}{(n\pi)^{3}}$ (b) $S_{3}(x) = \sum_{\substack{n=1 \\ n=1}}^{3} \frac{12(-1)^{n} in(n\pi x)}{(n\pi)^{3}}$ y=f(r) Spts. When . .38 y=\$(+) $\Rightarrow \left| \begin{array}{c} S_{3}(x) = \frac{12}{\pi^{3}} \left(-\sin(\pi x) + \frac{1}{8}\sin(2\pi x) - \frac{1}{27}\sin(3\pi x) \right) \right.$

(e) The full F-ourier series of f is the Fourier series of f with respect to the orthogonal set of functions $\overline{\Phi} = \{1, \cos(\pi x), \sin(\pi x), \cos(2\pi x), \sin(2\pi x), \dots\}$ on the interval (-1,1). These functions are the complete set of eigenfunctions for the problem $\overline{\Phi} = \{1, \cos(\pi x), \sin(\pi x), \cos(2\pi x), \sin(2\pi x), \dots\}$ on the interval (-1,1).

Note that
$$f(x) = x^{-x}$$
 satisfies the (priodic) boundary conditions:
3 chi to here: $f(1) = 0 = f(-1)$ and $f'(1) = z = f'(-1)$. Furthermore $f(x) = x^{-x}$, $f(x) = 3x^{-1}$.
5 chi to are: and $f^{*}(x) = 6x$ are continuous) on the clearly interval $-1 \le x \le 1$. Consequently,
5 chi to are: and $f^{*}(x) = 6x$ are continuous) on the clearly interval $-1 \le x \le 1$. Consequently,
5 chi to are: and $f^{*}(x) = 6x$ are continuous) on the clearly interval $-1 \le x \le 1$. Consequently,
5 chi to are: and $f^{*}(x) = 6x$ are continuous) on the clearly interval $-1 \le x \le 1$. Consequently,
5 chi to are: and $f^{*}(x) = 6x$ are continuous) on the clearly interval $-1 \le x \le 1$. Consequently,
6 c) $-(d_1)$. Because uniform convergence on $[-1,1]$ singhts toth L^2 -convergence
6 on $[-1,1]$.
(c) $-(d_1)$. Because uniform convergence on $[-1,1]$ singhts toth L^2 -convergence
6 on $[-1,1]$.
(c) $-(d_1)$. Because uniform convergence on $[-1,1]$ singhts toth L^2 -convergence
6 on $[-1,1]$.
(c) $-(d_1)$. Because $1 = f(\frac{1}{2}) = \sum_{n=1}^{\infty} \frac{12(-1)\sin(nT_n)}{(nT_n)}$ signification for second
6 on $[-1,1]$.
(f) $(\frac{1}{2})^{-1} = f(\frac{1}{2}) = \int_{-\infty}^{\infty} \frac{12(-1)\sin(nT_n)}{(nT_n)^{-1}}$ signification $\frac{1}{2} = \frac{1}{2} = \frac$

Applying this to our case, $\sum_{n=1}^{\infty} |b_n|^2 \int \sin(n\pi x) dx = \int |x^3 - x|^2 dx$ (nince $a_0 = a_1 = ... = 0$). Thus $\sum_{n=1}^{\infty} \frac{|12(-1)^n|^2}{(n\pi)^3} \cdot 1 = 2 \int (x - x^3)^2 dx = \frac{16}{105}$ So $\sum_{n=1}^{\infty} \frac{1}{n^6} = \frac{16}{105} \cdot \frac{\pi^6}{3} = \frac{\pi^6}{3}$

Please recall that the Laplacian of u in polar coordinates is $\nabla^2 u = \frac{1}{r} \frac{\partial}{\partial r} \left(r \frac{\partial u}{\partial r} \right) + \frac{1}{r^2} \frac{\partial^2 u}{\partial \theta^2}$ while in spherical coordinates it is $\nabla^2 u = \frac{1}{r^2} \frac{\partial}{\partial r} \left(r^2 \frac{\partial u}{\partial r} \right) + \frac{1}{r^2} \frac{\partial}{\sin(\phi)} \frac{\partial}{\partial \phi} \left(\sin(\phi) \frac{\partial u}{\partial \phi} \right) + \frac{1}{r^2} \frac{\partial^2 u}{\partial \theta^2}$.

2.(30 pts.) Let $0 < a < b < \infty$. Solve $\nabla^2 u = 1$ in \mathcal{R} : $a^2 < x^2 + y^2 + z^2 < b^2$ subject to u = 0 on $\partial \mathcal{R}$.

State b
Assume
$$u = u(r)$$
, independent of the ophenical angles φ and Q . (Ais is reasonable
to assume become the PPE, region and boundary conditions are involuent with respect
to holdions).) Jhuw $\frac{\partial u}{\partial \varphi} = \frac{\partial^3 u}{\partial Q^2} = 0$ as $\nabla^2 u = 1$ becomes $\frac{1}{r^2} \frac{\partial}{\partial r} \left(r^* \frac{\partial u}{\partial r}\right) = 1$ for
 $\Rightarrow \frac{\partial}{\partial r} \left(r^2 \frac{\partial u}{\partial r}\right) = r^2 \Rightarrow r^2 \frac{\partial u}{\partial Y} = \frac{r^3}{3} + c_1 \Rightarrow \frac{\partial u}{\partial r} = \frac{r}{3} + \frac{c_1}{r^2} \Rightarrow$
21 ds. $u = \frac{r^2}{6} - \frac{c_1}{7} + c_2$. Replying the boundary conditions $u| = 0 = u|$ are have
 $r = a$ $r = b$
 $v = \frac{a^2}{6} - \frac{c_1}{6} + c_2$ subtract: $v = \frac{b^2 - a^2}{6} - c_1(\frac{1}{6} - \frac{1}{4}) \Rightarrow -c_1(\frac{b-a}{4b}) = \frac{b^2 - a^2}{6}$
 $\therefore c_2 = \frac{c_1}{6} - \frac{a^2}{6} = -\frac{(b+a)b}{6} - \frac{a^2}{6} - \frac{2^3}{7}$ pice to here
Thus $u(r, \theta, \varphi) = \frac{r^2}{6} + \frac{(b+a)ab}{6r} - \frac{(b+a)b}{6} - \frac{a^2}{6}$. 30 pice beams

3.(30 pts.) Solve $\nabla^2 u = 0$ in the cube 0 < x < 1, 0 < y < 1, 0 < z < 1 given that u satisfies the inhomogeneous <u>Dirichlet</u> condition $u(x,0,z) = 4\sin^2(\pi x)\sin^2(\pi z)$ if $0 \le x \le 1$, $0 \le z \le 1$, and u satisfies homogeneous <u>Neumann</u> boundary conditions on the other five faces. Hint: You may find the identity $2\sin^2(\theta) = 1 - \cos(2\theta)$ useful.

•

choice of constants
$$A_{2,m}$$
 $(k, m = 0, 1, 2, ...)$. Therefore, to satisfy the
informageneous dirichlet boundary condition, we require that
 $\sum_{k=0}^{\infty} \sum_{m=0}^{\infty} A_{2,m} \cosh(-\pi/\lambda^2 + m^2) \cos(k\pi x) \cos(m\pi z) = u(x, 0, z) = 4 \sin^2(\pi x) \sin^2(\pi z)$
 $= [1 - \cos(2\pi x) - \cos(2\pi z)] = (2\pi x) \cos(2\pi z)$

for all
$$0 \le x \le 1$$
 and $0 \le \overline{z} \le 1$. Consequently, equating like coefficients produces

$$A_{0,0} = 1$$

$$A_{2,0} \cosh(-2\pi) = -1$$

$$A_{2,0} = \frac{-1}{\cosh(2\pi)} = A_{0,2}$$

$$A_{0,2} \cosh(-2\pi) = -1$$

$$A_{2,2} \cosh(-2\pi) = -1$$

$$A_{2,2} = \frac{-1}{\cosh(2\pi\sqrt{z})}$$

$$A_{2,2} = \frac{1}{\cosh(2\pi\sqrt{z})}$$

$$A_{2,2} = 1$$

$$A_{2,2} = \frac{1}{\cosh(2\pi\sqrt{z})}$$

$$A_{2,2} = 1$$

and all other $A_{p,m} = 0$. That is,

$$\begin{split} \mathcal{U}(x_{i}y_{j}\hat{\sigma}) &= 1 - \frac{\cos(2\pi x_{i})\cosh(2\pi(y_{i}-1))}{\cosh(2\pi r)} - \frac{\cos(2\pi \sigma)\cosh(2\pi(y_{i}-1)))}{\cosh(2\pi r)} \\ &+ \frac{\cos(2\pi x_{i})\cos(2\pi \sigma)\cosh(2\pi(y_{i}-1)\sqrt{2})}{\cosh(2\pi r^{2})} \end{split}$$

Bonus (30 pts.). Solve $u_t - u_x = 0$ in -1 < x < 1, $0 < t < \infty$, subject to the boundary conditions $u(1,t) = u_x(-1,t)$ and $u_x(1,t) = u_x(-1,t)$ if $t \ge 0$, and the initial condition $u(x,0) = x^3 - x$ if $-1 \le x \le 1$. Furthermore, show that this solution is unique. Hint: You may find the results of problem 1 useful.

$$prints 0. Speck purchased solutions of (D-D-D) of the form $u(s,t) = \mathbb{E}(s) \operatorname{T}(t)$. Industriating into (D) yield U $\operatorname{T}(t) \mathbb{E}(s) - \operatorname{T}(t) \mathbb{E}'(s) = -\lambda$. Industriating in (D-D) yield U $\operatorname{T}(t) \mathbb{E}(s) - \operatorname{T}(t) \mathbb{E}'(s) = -\lambda$. Industriating in (D-D) yield U $\operatorname{T}(t) \mathbb{E}(s) - \operatorname{T}(t) = \mathbb{E}(s) - \lambda$. Industriating the fact that $u(s,t) = \mathbb{E}(s) \operatorname{T}(t)$ and $\mathbb{E}(s) \operatorname{T}(t) = \mathbb{E}(s) - \lambda$. It is implied to $U(s,t) = \mathbb{E}(s) \operatorname{T}(t) + \lambda \mathbb{E}(s) = 0$. The fact that $u(s,t) = \mathbb{E}(s) \operatorname{T}(t)$ is not identically gave yields.
It gives there. (A) $\begin{cases} \mathbb{E}''(x) + \lambda \mathbb{E}(s) = 0, \mathbb{E}(s) \mathbb{E}(s-1), \mathbb{E}(s) \mathbb{E}(s-1), \mathbb{E}(s-1), \mathbb{E}(s-1), \mathbb{E}(s) \mathbb{E}(s) \mathbb{E}(s-1), \mathbb{E}(s) \mathbb{E}(s) \mathbb{E}(s-1), \mathbb{E}(s) \mathbb{E}$$$

To show that this polation is unique, suggest that
$$v = v(x,t)$$
 is any other (OVER)

Convergence Theorems

$$X'' + \lambda X = 0$$
 in (a, b) with any symmetric BC. (1)

Now let f(x) be any function defined on $a \le x \le b$. Consider the Fourier series for the problem (1) with any given boundary conditions that are symmetric. We now state a convergence theorem for each of the three modes of convergence. They are partly proved in the next section.

Theorem 2. Uniform Convergence The Fourier series $\sum A_n X_n(x)$ converges to f(x) uniformly on [a, b] provided that

- (i) f(x), f'(x), and f''(x) exist and are continuous for $a \le x \le b$ and
- (ii) f(x) satisfies the given boundary conditions.

Theorem 3. L^2 Convergence The Fourier series converges to f(x) in the mean-square sense in (a, b) provided only that f(x) is any function for which

$$\int_{a}^{b} |f(x)|^2 dx \text{ is finite.}$$
(8)

Theorem 4. Pointwise Convergence of Classical Fourier Series

- (i) The classical Fourier series (full or sine or cosine) converges to f(x) pointwise on (a, b), provided that f(x) is a continuous function on a ≤ x ≤ b and f'(x) is piecewise continuous on a ≤ x ≤ b.
- (ii) More generally, if f(x) itself is only piecewise continuous on $a \le x \le b$ and f'(x) is also piecewise continuous on $a \le x \le b$, then the classical Fourier series converges at every point $x (-\infty < x < \infty)$. The sum is

$$\sum_{n} A_n X_n(x) = \frac{1}{2} [f(x+) + f(x-)] \quad \text{for all } a < x < b.$$
(9)

The sum is $\frac{1}{2} [f_{ext}(x+) + f_{ext}(x-)]$ for all $-\infty < x < \infty$, where $f_{ext}(x)$ is the extended function (periodic, odd periodic, or even periodic).

Theorem 4 ∞ . If f(x) is a function of period 2*l* on the line for which f(x) and f'(x) are piecewise continuous, then the classical full Fourier series converges to $\frac{1}{2}[f(x+)+f(x-)]$ for $-\infty < x < \infty$.